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(2% Hours) ! ( Total Marks T5)
N.B.: 1. Solve all questions. Each question has internal options \/
2. Workings should form part of your answer. ‘ 2, DA g
1. a) Match the following (Any Eight) : .. . . y 8
| Group A ST Grollp B 3
1) | Terms of redemption a) | Not redecmable 4 r
2) | Revaluation Reserve b) ‘_'Ohb mode of redemp?tmn : _
3) | Cumulative preference shares : :é}fr“_”Transzr o capltal reserve e ) SRS
4) | Issue of shares | -d)-| Specify atiissue . : -
S) | Discount on buyback | e) | Not treated as fresh issue
6) | Maximum amount o 1 Not a divisible profit
7) | Capital redemption Reserve | g) Dividend accumz.&ated
8) | Equity Shares 0 |F )| Net Assets Value
9) | Receiptofcallmoney . - i) |2 25% of capital plus ﬂ'ec reserve
10) | Intrinsic Value S o S ek ) “quﬁlred for rcdcmpimn out of
F S S PR S o A5 ¢
b) State whether followmo statements are true or fa}se (Any Seven) 7
1) Goodwill cons;sl.s of the: super eamhtg power
2) A company can buy back any sccurlty
3)  Bonus shares. can be 1ssued Jaut of CRR
4) Debentures cannot be exchanged for new share's M
5)  FMP 13 considered in valuation of Goodw;ll
6). . Equity shares car be redeemed by a company\
7) Debentures can be redcem edat ﬂlscount
8) - Goodwill is fictitious asset gt
9)  After buy back. De“bt— Eqmty :atto should not exceed 2:1.
10) Capital reserve.is a dlvnsgble profit.
2. ST. Ltd. Provides you w_it’ﬁ followinig Balance Sheet as on 31% March 2017 : (15)
| Liabilities e B Assets T
3?5{) Equity shares of T100 3,75,000 Goodwill 52,500
gach = .
Profit & Loss A/¢ 90,000 | Land & Building 1,50,000
; Sﬁﬁd-r_y Creditors’ £ L7504 1,35,000 | Plant & Machinery 1,40,000
Provision for taxation- 90,000 | Stock 2,40,000
Bark overdraft ¥ 30,000 | Sundry Debtors 1,27,500
el Bank 10,000
Total | 7,20,000 Total | 7,20,000
TURN OVER
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Profit before providing for taxation for past five years are : 201 3-% 93, 000 201 4 -
T 97,500; 2015 - =1,05,000; 2016 ~ ¥1,25,000; 2017 — T1,52, 500 2
Tax rate is 40% and 15% is fair return on capital employed in.such t_ypc of concerns.
Ascertain goodwill of the business by : RN |
a)  Capitalization of average profits.
b)  Five years purchase of super profits.

¢)  Capitalization of super profits. )
OR

Following figures are extracted from Balance Sheet of KM Ltd. as on 313‘March20 17: 15)
Particular's : ' e g R

Share Capital : S 2y v
i) 9% preference shares of ?IOG each : R T 5 3,00,000
ii) 10,000 Equity shares of ?1@ each <5, pald ap To¥ A 227 50,000
iiiy 10,000 Equity shares of 1 &each 2.5€}.pald up PO 25,000
iv) 10,000 Equity shares of T10 each fully paid up I s 1,00,000

Reserves and Surplus : s gk syl

i)  General Reseryes AP o TS SR 2,00,000
i) Profit & Lo‘s_s Alc R IS oAy 50,000
- 5 o ; "3 Fonl 7,25,000

On revaluatlon of assets as on 31.03.201 7 1t Wa,s found that they had appreciated by
T75,000 over their-value in agoregate

You are reqmred to calculate value of each cqulty share

SK Litd. a clebt company, decided to buyback 1,00, 000 equity shares of 10 each at 20%  (15)

premium. The balances on account were.

\ 2 P-artlculm_'s 53
Share Capital §, G 52 50,00,000
Securities Premium P 1,10,000
General Reserve P 7,00,000 |
Dividend Equalization Reserve 50,000
Capital. Rcserve (P D 1,00,000
Capital Redemption Reserve 1,60,000
Profit & Loss A/c 6,00,000

You are required to check whether legal requirements are fulfilled and pass the
necessary j‘r.')_iufhal entries.

OR

TURN OVER
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3
3. Following is the Balance Sheet of NG Ltd, O A A
Balance Sheet as on 31% March, 2017 O
Liabilities T Assets A .
Equity shares of 10 each 12,50,000 | Fixed Assets - " 46,50,000
Revenue Reserve 15,00,000 | Current Assets- ~ | 30,00,000
Securities Premium 2.,50,000 3 WA
Profit & Loss A/c 1,25,000 v P X
Secured Loans : R i o\ A
12% Debentures 18,75,000
Unsecured Loans 10,00,000
Current Liabilities 16,50,000 TG ¢ n e
Total | 76,50,000 el Total - 76,50,000 |

The company wants to buyback maximum number of Eqmty Shares at maximum
possible price as per applicable provisions. Calculate maxunum number of’ shares that can
be bought back and the price that can be offered for the buyback

Also show journal entrres for the buyback

4. RK Ltd. Issued T 2,00 OOO redeemablc preference shares at par on lSt January, 2010, (15)
redeemable at the opt:on of the company on or after 3 1 st December, 2015 in whole or in
part. : o A3
The company made fcllowmg redemptions out of proﬁt
% 80,000 on 30" June, 2016
< ¥ 60,000 on 30 June 2017

The company demded to redeem aIJ the remaining preference shares on 31
December 2017 and rssued equnty shares of the face value of 40,000 at a premium of
10% on the same date, : '
- Pass necessary Jo_umal ent,rie_s;to record above transactions.
4. JT Ltd. Issued 50,000 ]‘!5.,% debentures of 1,000 each at T 952 per debenture. The  (15)
“debentures are Fecieemable in five annual instalments of %200 each. It is decided to write
off dlsccunt m proportlon tQ the amount of debenture finance usage over the various
years: .
You are eeked tb::
: ]):I; Prepare statement for write off of discount over the period of five years.

2“)_ Pass appropriate journal entries for first and second year.,
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a) What are the provisions of Companies Act, 2013 about redérﬁi)tiqn éf.'“p@:.l'cfcrqnc_g. (08)

shares?

b) Explain methods of valuation of shares.

Write short notes on any three :

a)
b)
c)
d)
e)

Capital Redemption Reserve.
Intrinsic Value Method.
Non-divisible Profits.
Capitalization of Super Profit.

Sources of buyback.

OR
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